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1.
by -
\) l!nmn Government
(m btutv Government
() State Election Commission {
(1) Central Election Commission
”'“:'-a 2. lHaryanvi tradition erodits for
laying the foundation of the present style
of Swang.
(\) Pt. Deepehand
(B) Dayachand Mayna
(C) Kishan Lal Bhaat
(D) None of the above b

3. district of Haryana hasﬁiany
villages named as Todi, .’\ﬁl\l:‘rl‘Jalﬂl'l.
Malakoshna, Hindola, Bhairavi. ma;,-**f h
(A) Gurugram (B) Charkhi Dadn'
(C) Panipat (D) Sirsa

4. A resume should be
(A) Short and precise
(B) IFancy and colourful
(C) Having acronyms a :bfév:iaiion
(D) None of these ' :

5. Haryana State Industrial Development
Corporation has developed an Industnal
Model Township at _*:’ 1
(A) Manesar (B) Fnridaba:i
(C) Ambala (D) Chaqmrh

J

6. To read the data, an mfrar:d laaer is
beamed through the mlycglrbonaba
substrate. e 1
(A) DVD YW
(B) CD
(C) Floppy disk ;

N (D) Hard disk S‘:";- 3 “1‘
L e A ey X
B Wi e

i

Eleetion for gram panchayat is conducted

F
4.
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7. 5 faga #1 gifean e F wofia e

7. When clectricity is passed through an
;u[umus nnlulliofn of at}(‘i‘lium chloride, it -1 T ST 2, 9 98 difean TR b1
ecomposes to form sodium hydroxide. [ -
The process is ealled 't?ﬁﬁ%, W ”—mg I
(A) Loewig's process (A) it 1 g &S@
(B) Luca's process (B) e i wfswan ‘\W';D)(o..
(C) Nelson’s process (C) =8 1 uftFn @ w,d(
(D) Chlor-alkali process D) Wi E T
8. Agroup of six persons A, B, C, D, Eand | 8. £ ¥ ¢,'D, & 3f ¥ og =il &1 T W78 &
et st o e 0 ﬁ“‘“ﬂ oA L it
badminton players, one isa phofographer a % 3 i aefiie g, E;
and one is magician. A, the photographer, FIZITER qoT U PR 81 A PIETH
is married to D who is a musician. The o D A g & < w1 AR I B
magician is married to B, who is of the e
same profession as that of F. A, B, C, D %ﬁ%alﬁ?ﬂ %%ﬁ;{ﬂ%ﬂ%ﬁ
are two married couples in the group. F, A, B, Cy D?ﬁm—ﬂaﬁﬁ% F R wmdt-
the unmarried badminton player is the ﬁsﬁm faerdt ¢ =7 wig 31 Aehiew
brother of C. In the pair of badminton 'm%ﬁ%ﬁ%%ﬁﬁﬁagﬁ“% |
layers only one is male.
'ﬁ’;:) l;slhe magician in the group ? ﬁ)?ﬁmm% [P s Sy
(A) B
B) C ®) C Co BM *F& I~
(C) E © E
(D) Cannot be determined (D) Tyt 7& = g
9. of a material is defi  as the 9. foreftuered amh & dromm | 3w () wfy faft
change in resistance in Ohm (Q) per °C afdms 6 gfe F9 9 vfedy § gu ofedy
rise in temperature. =l & &9 H wfofia e 2
(A) Temperature co-efficient (A) TITHH 'JIUT[?}:
(B) Temperature constant (B) T s
8 (C) Temperature effect (C) TTTHT S¥TE
4 (D) Laws of temperature (D) a9 & fam
::“ 10. is coated with a magnetic sensitive | 10. ____Wlﬁ“ﬁ“ HEIRARIC e 1 AT
‘*3' ~ layer and this layer is magnetized in ﬁm%ﬁ%%qﬁﬁﬁmmﬁ%ﬂﬁ% fawtra
‘”’ " clockwise or anticlockwise directions, foean # geAIF Efa;iﬂ?ﬁﬁ%, ﬁ;:
which then are interpreted as binary 1s fgamemd 1s 3 0s % ® H ATET
and Os at reading. ST € | . ®) R
(A) Fixed storage  (B) Diskette (4) !.I i O o e
- (C) Magnetic media (D) Hard disk (C) Forhia FIR
B




11.

12,

13.

14.

15.

16.

Saina Nehwal Won Bronze
London Olympic held in

(A) 2012
(C) 2004

medal at the

(B) 2016

(D) 2008
What is the name of the toq] 2

ﬁ
Sy

(A) Wire stripper

(B) Crimping tool

(C) Combination pliers
(D) Diagonal cutting pliers

CPU stands for

(A) Central Programming Unit
(B) Central Processing Unit

(C) Central Planning Un{t %
(D) Central Progress Unit

Aligarh fort located in Hansi which w»
built in 12%* Century which also ¢r
as

(A) Fort of Knives (B) Fort r ords
(C) Fort of Staves (D) Fo axe
Solid-state storage dev’ .core data
using a special type o .mory called
memory.

(A) Random Access Memory (RAM)

(B) Flash

(C) Cache

(D) Read Only Memory (ROM)

Flash drives, digital cameras, _pr:inters,
scanners are some of the devices that

-4~

often connect through the port.
(A) Solid state
(B) Parallel
(C) Serial
() Universal Serial Bus (USB)
¢ f—‘r,';_‘:_ ;' §
b .
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17 The cold war ended in 17. iage =1 355 =
(A 1991 (B) 1982 (A) 1991 ‘_—_(1]]13’?;'
L (0) 1954 (D) 1962 RO
18. Ethanoic acid reacts with absolute | 18. 3HIEE = 29T 3 WY
ethanol in the presence of an IeuTe i i arfufEen ﬁg_m
< catalyst to give an ester. T E |
o (A) Acid (B) Base (A) 3= (B) &N
B~ © Ni (D) Fe (C) Ni (D) Fe
19. SHEARH RIS 7
IR

(A) Claw hammer 14(A)
(B) Ball peen hammer . g
{(C);Cross peen hammer s, .- %
PR (D) Straight peen hammer (D) Bz I 1
20. Western ghats are also known as 120 gy e s
*='_(A) Churia Range (A)
(B) Mahendra Parvatham (B)
(C) Sahyadri o3 (©) TEE
(D) None of the above (D) Fa 1 G g TE
. 21. The capitalof Japan is 91. WA & TSUE
P (A) Tokyo (B) Beijing (A) T (B) difem
| (C) Kuala Lumpur (D) Jakarta (C) FHATL (D) STl
99. Technology Training Centre opened in | 22. EREEN ¥ T Toret o et o @en T
Nilokeri of Karnal district of Haryana is e ofm d Fefafea 4 ¥ e wa
dedicated to which of the following crops ? e ?
(A) Rice (B) Wheat (A) FEd ®B) M
(C) Tomato (D) Potato (C) eAT D) 3
93. This lake of Faridabad in Haryana was 93, ghamn # whEER F I8 A AR a9 &
built during the rule of Tomar dynasty I 3 A T i A ot
(A)rSurajkund (A) §=F=
(B) Sannihit Sarovar (B) whafed T
(C) Brahma Sarovar (C) e FUE
(D) i T

(D) Karna Sarovar
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28.

29.

30.

What s the name

) Warning sign
(I Mandatory sigEn
() Prohibition sipEn

ol the snlety sigy 2

() Information sipn

Workdone in adiabagic Process is
w =N ay BT
y-1 y-1

(&) ]_{."_1.1_.”'_11_—3 M Ry - (T, =Ty)

P walks 10 m in front and then 10m to the
right. Then every time turning to his left he
walks 5 m. 13m and 156 mvespectively. How
far is he now from his starting powt ?

(A 2m (B) 4m

(C) 8m (D) bm

Who discovered the vaccine for Small-pov
(A) Edward Winner

(B) Edward Jenner

(C) Edward Ford

(D) Edward Runner

What is the unit for quanuwy of electricity ?

(A) Amperefsecond (B) Volt /second
(C) Coulomb (D) Mho

In a certain code 57123 is written ns
B“..\.N]) ﬂnd '1“93 i_t-'l. \\'r’ittl‘“ na SIT\OI)|I llnw
is 46123 written in that code 7

(A) STAND (B) ADNTS

(C) TSNDA ()] ‘[‘ASND
Which term of the A.P. 3, 8,13, ..i8 387
(A) 7 (B) 6

(C) b (D) 8
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: 32

33.

34.

N 111

36.

317.

38.

The first Cotton mill in Bombay came up in

(A) 1855
(C) 1862

(B) 1854
D) 1860

Which of the following is South- West
boundary of Haryana ?

(A) Shiwalik (B) Delhi
(C) Yamuna (D) Ghaggar

This district of Haryana has War Her 'oes
Memorial Stadium

(A) Rewari
(C) Gurugram

(B) Panipat
(D) Ambala

Vedas are how many in number ?
@A 5 B) 4
(C) 2 (D) 3
0 \u“‘w-v..t—. Y -~ by
When one body rolls over the surface of

another body, the resistance to its motion
is called as

(A) Walking Friction
(B) Running Friction
(C) Static Friction
(D) Rolling Friction

Find the missing term.

&2 4,16, 128, 7

(B) 2045
(D) 2048

(A) 2041
(C) 2046

The highest population of pigs was found
district of Haryana.
(B) Ambala

(D) Sonipat

lIl
(A) Kaithal
C) Sirsa

have two or more processors for a
single running process.
" (B) Time sharing
(D) Multiprocesaé_ﬁg

(A) Real time
(C) Distributed

31.
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36.
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38.
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40.

41.

43.

44.

45.

39, The unit nl'elt‘t'[.t-:;-ul I‘\'ﬂrx’iﬂ':‘-[%“ﬁ

-

1 2

28
~17

(A) Ohm (B3) Mho

(©) Ampere/second (D) Coulom,

In a certain code |0 AVOUR' is wyi

g iy Ll SWrillen as
ECURTV'. How is FOSTER' written in
that code ?
(A) GPTUFS
(C) OFTSRE

(B) ENRSDS
(D) EQRWDV

Indian Constitution borrowed the
Principle of ‘Liberty, Equality and
Fraternity’ from the Constitution of

(A) Ireland (B) England

(C) France (D) Canada

The weight that a person can lift will vary
according to
(A) Age

(C) Condition

'\ (B) Physique
(D) All of the above

Which among the following dance *

of Haryana marks the sowing of ' 0
crop ? f

(A) Jhumar B) 1

(C) Ghoomar ™ «i

A number consisting . . digits is 4 times

the sum of its digits and if 27 is added to
it, the digits get reversed. The number is

(A) 63 (B) 35
(©) 36 (D) 27

According to Mahabharat, Yud;'lishtir‘had
offered pinds in memory of t_heu- relatives
killed in Mahabharat at this place

(A) Saraswati Theertha
(B) Gopal Mochan

(C) Beri

(D) Basdoda
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ntage of stranded

at is the advan
a c‘g:ducmr over solid conductor ?

(A) Cost is less
(B) More flexible
(C) Less voltage drop

(D) More insulation resistance

In the year , Seth Chhaju Ram
was elected as a member of the Punjab
Legislative Council from Hisar district of

47.

Haryana.
(A) 1937 (B) 1920
(C) 1927 (D) 1935

The ‘Mule’ was a machine invented by
(A) James Hargreaves

48.

&)

WHERES mund Cartwright

(D) Richard Arkwright
49. What should come in the place of questir

mark ?

BD, | CE; | DE;5

EG, | FH, | Gljp

HI, [1IKg | ?

A) 14, (B) JLy,
(© JK, ®) I,

Pointing out to a lady, Rajan said, “she
is the daughter of the woman who is the
mother of the husband of my mother”.
Who is the lady to Rajan ?

(A) Aunt (B) Grand daughter

(C) Daughter (D) Sister

50.

What is the full form of BIS ?

(A) Board of Indian Standard

(B) Bureau of Indian Standard

(C) Board of International Standard

51,

(D) Bureau of International Standard

47.

48.

3 %;-‘;1 h y' (A) ﬁ%ﬁl’!ﬁsﬂ i :i - i

41).—

50.

51.

(A) T T

(B) 3féres wefien

(C) 4 dices g

(D) 3ifer FgevE gfaae

Feomm o & e ¥ few @

el forerr fteE 3 weE % F9 6 I |

(A) 1937 (B) 1920

(C) 1927 (D) 1935
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hz,

0.
§4,

¥
56.
g“ o
58.

Only temple dedicated o Ekalavya is

situated in — village of Haryana.
(A) Yamuna Nagar (3) Khandsa

(%) Sohna (D) Baharpur

— is an example for magnetic
storage media,

(A) Hard disk

(13 Fixed storage

(C) Removable storage

(1)) None of these

'_I'Im power of an earthquake is expressed
I terms of a1 magnitude on a scale is
called as

(A) IEarth Scale (B) Lunar Scale
(C) Richter Seale (D) Bio Scale
Yamunanagar of Haryana is n!m:_cujled as
(A) Steel city (B) Paper city
(C) Copper city (D) Textile city
Crocodile Breeding centre is situated

district of Haryana.

(A) Panchkula

(B) Kurukshetra

(C) Bhiwani

(D) Hisar

Asbestos is found in which district of
Howans. (B) Gurugram

. !

(A) Hisar . h
(C) Karnal (D) Mahendragar
On an media inf""matl’j::!;s
stored and read using a 1aser '

(A) Floppy disk

(B) Optical storage

(C) Hard disk

(D) Fixed storage

-10-
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53.

h4.

55.

56.

57.
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59 i b js a major component of | 59. mw@ﬁﬂa o S
Compressed Natural Gas (CNG). @H@W% | il
(A) Methane (B) Propane (A) g (B) WA
() Butane (D) Pentane (©) == (D) 924
0. The famous ancient Indian University 60. ;[ﬁ:m EIEIE] 111‘{?ﬁ?1 favafaaem (3%=)
(Buddhist) Nalanda was Jocated in EIGH! __ﬂf@lﬁ q |
(A) Bihar (B) Uttar Pradesh () foer (B) 3 eI
(C) Orissa (D) Haryana (C) S (D) BfEmI g
| 1 " ‘-’g
61. If "Cyy ="Cgthenn is equal to 61. AR "Cy= nCB?ﬁ n S B A id
(A) 20 ®) 12 (A) 20 ®) 12
() 30 (D) 18 (C) 30 @) 18
62. Haryana Panchayati Raj (Regulation of | 62. |
(ommunication Towers) Rules waspublished | o HEE
‘®) 2009 (B) 2009
(D) 2011

(D) 2011

(C) 2012

63. Which is the immediate life-saving car
and support ?
(A) Medical treatment
(B) Call a doctor
(C) Intensive care
(D) First Aid
64. If WOLF is coded as 56, then FOX is
coded as
(A) 54 (B) 45
(C) 85 (D) 46
65. SI unit of Area is
(A) m* (B) m’
(C) m/s (D) m/s*
66. Which of the following districts of Haryana
is richest in mineral resources ?
(A) Mahendragarh (B) Fatehgarh
(C) Ambala (D) Hisar
q1=

63.

64.

65.

66.

2R WOLF F191€ 562, @ FOX F1 I8 71
gm?

(A) b4 (B), 45
(C) 65 (D) 46

S 1 .. §HE &

(A) m? B) m®

(C) m/s (D) m/s*

afeon 1 - foren @fe danet §
ghE?

(A) TRETG (B) FaETR

(C) el (D) femm
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67.

68.

69.

70.

5

72.

Which one is the input devic. of computer ?
(A) Monitor (B) Printer

(C) Keyboard D) Speaker
Port Blair is in

(A) Andaman and Nico
(B) Goa

(C) Gujarat
(D) None of these

bar Islands

AandB are brothers. Cand D are sisters.

A’s son is D's brother. How is B related
toC?

(A) Father

(B) Brother
(C) Grandfather

(D) Uncle

A particle motlon on a shape curve is

grwarned ¥ X = 2sint, y = 3cost and
= /5 sint. What is the magnitude of

veloc:ty of the particle at any tune t?

(A) 32 sint (B) 3
(C) 32 cost (D) 3J2

The Vienna Congress was hosted by
(A) Victor Emmanuel

(B) Duke Metternich .

(C) Garibaldi

(D) Bismarck R,

is general purpose application
software that lets us create compt':ter
programs that control the creation,
maintenance, and the use of database for

an orgamzstlon and its end users.
(A) Spreadsheet packages
(B) Presentation tools o=y
(C) DBMS

(D) Word processor

67.

68.
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T B IR A AR e w2
(A) HTfT2T

(B) iz
(C) Frars D) =i
I = 72
(A) ¥z i fram d wg
(B) M3
(C){ﬁ}ﬁj
(D), 370 & 1§ 78

69. r"mqﬁ%(mnaﬁiamaa

70.

11.

72.
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UF ST 9% 9 G F01 61 716 & x = 2sint,
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“ ) 393 sint SR X S oy
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(D) % WEeR
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73. This dance form of Haryana is named
n&crnncwnamcnt
(A) Phag
(B) Daph
(C) Gugga
(D) None of these
74. A software application used to enable | T74.
computer users to locate and access web
page is called
(A) Web browser (B) Web server
(C) Web site (D) E-mail
75. 1f HCF of 306 and 657 is 9 then LCM of 75.
g B YT 5 Wi nahl
, ﬂfe same tu:%‘ W 1':;1 p_r;i:.pes is Wk ,,E
S (A) 22228 (B) 22338
(C) 306 (D) 306 x 657
76. The plains are made up of sand, o 76.
silt and hard calcareous gravels Ay
known as
(A) Saras (B) Karnals
(C) Bunkers (D) Kankars
77. Choose the correct alternative from the [ 77
given ones that will complete the series.
7ZTW, YSV, XRU, ?
(A) WTQ (B) QTW
(C) WQT (D) WQS
78. Ahirwati dialectis majorly spokeninwhich | 78
of the following districts of Haryana ?
(A) Sirsa (B) Karnal
(C) Mahendragarh (D) Rohtak
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13. Eﬁmﬂmwmmmmmw#

A R T
(A) w1
(}) 2%
(C) ™
(D) T @ 1 7

gt ST 1 da T 1 T
3t 3 7 S H Wa S 3 forg 3T
fipu STHATe BTRaat U H
FETAE |

(A) F9 SIS (B) ¥4 FH

(C) I TR (D)

af3 306.3 657 F1 FEWH FATIIF
g 4 3 4 wews

‘A) 22228 (B) 22338

(C) 306 (D) 306 x 657
#er v 1§, B3, e 3R FIT FeHan
Tl & e 2, o T w9 @ fRm Am @
SIS e 7

(A) TH (B) FAeH

() T4 (D) FE

fro T sveRtl 3 g @ W s B g
St 1 7 @ g |

ZTW, YSV, XRU, ? W&

(A) WTQ (B) QTW
©),WQT D) WQS

st e e v & Frefad § @
whamn ¥ e et & et 9t 8 ?

(A) fawm (B) A

(C) WeEaTE (D) {Eas

o _&ﬁ&--‘
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English Language

f=#1 arm

(_fhrml.ﬂ(_* the word from the given options 83, i@ 1 arrd meafan
that is L',\(H(:I]_\' opposite to the underlined - :
word. F1A A
[t was a very dreary day. (A) ’f:?"i.'tl (1 'w'TL"“I'. -
(A) Drab (C) AT (13 Z48 1wk
(B) I)angemus 84, "ﬂﬂﬂ:‘ ;[;mf:qi 0 ARICA ?:‘ o
(C) Beautiful TR L EF
(D) Bright (A) AfaFan (i) AfEa
() Afgmtrm (1)) A0 7 #1%
Out of the four alternatives suggested, ;
select the one which best expresses IR A O (o2 ) — A
the same sentence in Indirect/Dircet (A) T (3) 9m Y
Speech. () 1A (1)) Z90 3 F12 T
Kumar said, “I am unwell”. ) . 3 :
(A) Kumar said that he had heen unwell 86. =1'qHM M T‘F'_q: A 713 A T
- = F7A 7w |
(B) Kumar said that he is unwell. Ao ®)
(C) Kumar said that he has been unwell. (©) fFm D) e
K id that he was unwell. .
e 87. T F A4 21
In the following words, one w* 18 (A) 'TEFSI (B) '!TFIT £E
misspelt. Find out the misspelt «d (C) =181 (D) 779 A F13 A6l
A) Hillock
::B: Vilify 88, ‘AT &l 9294 =2 21
(A) HATET (B) A
(C) Mileage ) - ) i 1 2
) Hillarious (C) #A1g (D) H'cﬁrhgi
In the following, a set of four words is 89. 48, gf, =, EH?J., A , 3’137, 3&%; a:nﬁg%
given. Three of the words are related TS HAA & R U2 ﬂﬂﬁi\'@l’lﬂg?
in some way. the remaiﬂiﬂg wr)rd. 18 nlf‘.lt- (A) Tﬁlﬂm {B) 'qg}gq W
related to the rest. You hav; to rlnrik the (C) FAqF5a=F (D) 399 4 F3 A2
5 in the relation. ~ ke
word which does not fit in 2. ':rs,jmaﬁl WW L
(A) Astute o R e
(B) Crafty — .
(C) Wily ‘i}) et (B) et
(D) Naive (©) T (D) FHARETE
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